

To Prove: For all integers  $n \geq 2$ ,  $\sqrt{n} < \left(\frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{n}}\right)$ .

Proof: [By Mathematical Induction]

[BASIS STEP] Let  $n=2$ .  $\therefore \sqrt{n} = \sqrt{2}$  and  
 $\frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{n}} = \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}}$ .

Now,  $1 < 2$ .

$\therefore \sqrt{1} < \sqrt{2}$  since  $y = \sqrt{x}$  is an increasing function.

$\therefore 1 < \sqrt{2}$ .  $\therefore 1+1 < 1+\sqrt{2}$ .  $\therefore 2 < 1+\sqrt{2}$

$\therefore (\sqrt{2})(\sqrt{2}) < 1+\sqrt{2}$

$\therefore$  [By dividing through by  $\sqrt{2}$ ]  $\sqrt{2} < \frac{1+\sqrt{2}}{\sqrt{2}} = \frac{1}{\sqrt{2}} + \frac{\sqrt{2}}{\sqrt{2}}$

$\therefore \sqrt{2} < 1 + \frac{1}{\sqrt{2}} = \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}}$ .

$\therefore$  FOR  $n=2$ ,  $\sqrt{n} < \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{n}}$ , by substitution.

[END OF BASIS STEP]

[INDUCTIVE STEP]

Let  $k$  be any integer such that  $k \geq 2$ .

Suppose  $\sqrt{k} < \left(\frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{k}}\right)$ . [Inductive Hypothesis]

$\therefore$  By the Inductive Hypothesis,

$$\sqrt{k} + \frac{1}{\sqrt{k+1}} < \left(\frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{k}}\right) + \frac{1}{\sqrt{k+1}} \quad (*)$$

[We N.T.S.  $\sqrt{k+1} < \left(\frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{k}} + \frac{1}{\sqrt{k+1}}\right)$ .

We first show that  $\sqrt{k+1} < \left(\sqrt{k} + \frac{1}{\sqrt{k+1}}\right)$  and then

combine this with inequality (\*) above and use the transitivity of "less than" to conclude the inequality we need. ]

(Sec. 5.3, \*21 cont.)

(2)

Now,  $k < k+1$

$\therefore \sqrt{k} < \sqrt{k+1}$  since  $y = \sqrt{x}$  is an increasing function.

$\therefore$  [Multiplying through by  $\sqrt{k}$ ]  $\sqrt{k} \sqrt{k} < \sqrt{k} \sqrt{k+1}$ .

$\therefore$  Since  $\sqrt{k} \sqrt{k} = k$ ,  $k < \sqrt{k} \sqrt{k+1}$  by substitution.

$\therefore$  [Adding 1 to both sides]  $k+1 < (\sqrt{k} \sqrt{k+1} + 1)$

$\therefore$  [Dividing through by  $\sqrt{k+1}$ ]  $\frac{k+1}{\sqrt{k+1}} < \frac{\sqrt{k} \sqrt{k+1} + 1}{\sqrt{k+1}}$ .

$\therefore$  Since  $\frac{k+1}{\sqrt{k+1}} = \sqrt{k+1}$  and  $\frac{\sqrt{k} \sqrt{k+1} + 1}{\sqrt{k+1}} = \sqrt{k} + \frac{1}{\sqrt{k+1}}$ ,

$\sqrt{k+1} < \left( \sqrt{k} + \frac{1}{\sqrt{k+1}} \right)$ , by substitution. (\*\*).

Combining statements (\*\*) and (\*), we conclude that

$\sqrt{k+1} < \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{k+1}}$  by the transitive property of "less than".

$\therefore$  For all integers  $k \geq 2$ , if  $\sqrt{k} < \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{k}}$ ,

then  $\sqrt{k+1} < \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{k}} + \frac{1}{\sqrt{k+1}}$ ,

by Direct Proof.

[END of Inductive Step]

$\therefore$  For all integers  $n \geq 2$ ,  $\sqrt{n} < \left( \frac{1}{\sqrt{1}} + \frac{1}{\sqrt{2}} + \dots + \frac{1}{\sqrt{n}} \right)$ ,

by the Principle of Mathematical Induction

Q.E.D.

(2)

Section 5.4, #9

HW# 7A, PART II SOLUTION: SECTION 5.4, #9

3

Sequence  $(a_n)$  is defined as follows:

$$a_1 = 1, a_2 = 3, a_t = a_{t-1} + a_{t-2} \text{ for all integers } t \geq 3.$$

To Prove: For all integers  $n \geq 1$ ,  $a_n \leq \left(\frac{7}{4}\right)^n$ .

Proof: [By STRONG MATHEMATICAL INDUCTION]

$$\text{Let } n=1. a_n = a_1 = 1. \left(\frac{7}{4}\right)^n = \left(\frac{7}{4}\right)^1 = \frac{7}{4}$$

$$1 \leq \frac{7}{4}. \therefore \text{For } n=1, a_n \leq \left(\frac{7}{4}\right)^n, \text{ by substitution.}$$

$$\text{Let } n=2. a_n = a_2 = 3. \left(\frac{7}{4}\right)^n = \left(\frac{7}{4}\right)^2 = \frac{49}{16}.$$

$$3 = \frac{48}{16} < \frac{49}{16}. \therefore \text{For } n=2, a_n \leq \left(\frac{7}{4}\right)^n, \text{ by substitution.}$$

[END of Basis Step]

Let  $k$  be any integer such that  $k \geq 2$ .

[INDUCTIVE HYPOTHESIS] Suppose  $a_m < \left(\frac{7}{4}\right)^m$ , for all integers  $m$  such that  $1 \leq m \leq k$ .

$$[NTS: a_{k+1} \leq \left(\frac{7}{4}\right)^{k+1}]$$

Since  $k \geq 2$ ,  $k+1 \geq 3$ , so,  $a_{k+1} = a_k + a_{k-1}$ .

Since  $k \geq 2$ ,  $k-1 \geq 1$ .  $\therefore 1 \leq k-1 \leq k$ .

Since  $1 \leq k-1 \leq k$ ,  $a_{k-1} \leq \left(\frac{7}{4}\right)^{k-1}$ , by the Inductive Hypothesis.

3

(Sec 5.4, #9 cont.)

Since  $1 \leq k \leq k$ ,  $a_k \leq (\frac{7}{4})^k$ , by the Induction Hypothesis.

$$\therefore a_{k+1} = a_k + a_{k-1} \leq (\frac{7}{4})^k + (\frac{7}{4})^{(k-1)}$$

$$\begin{aligned} \text{Also, } (\frac{7}{4})^k + (\frac{7}{4})^{(k-1)} &= (\frac{7}{4})(\frac{7}{4})^{(k-1)} + (\frac{7}{4})^{(k-1)} \\ &= (\frac{7}{4} + 1)(\frac{7}{4})^{(k-1)} = \frac{11}{4}(\frac{7}{4})^{(k-1)} = \frac{44}{16}(\frac{7}{4})^{(k-1)} \end{aligned}$$

$\therefore a_{k+1} \leq \frac{44}{16}(\frac{7}{4})^{(k-1)}$ , by substitution.

$$\text{Now, } (\frac{7}{4})^{k+1} = (\frac{7}{4})^2(\frac{7}{4})^{(k-1)} = \frac{49}{16}(\frac{7}{4})^{(k-1)}$$

$$\text{Since } \frac{44}{16} \leq \frac{49}{16}, \quad \frac{44}{16}(\frac{7}{4})^{(k-1)} \leq \frac{49}{16}(\frac{7}{4})^{(k-1)} = (\frac{7}{4})^{(k+1)}$$

$\therefore$  By Transitivity of "less than or equals",

$$a_{k+1} \leq (\frac{7}{4})^{(k+1)}$$

$\therefore$  For all integers  $k \geq 2$  if  $a_m \leq (\frac{7}{4})^m$  for all integers such that  $1 \leq m \leq k$ , then  $a_{k+1} \leq (\frac{7}{4})^{k+1}$ , by Direct Proof.

[END OF INDUCTIVE STEP]

$\therefore$  For all integers  $n \geq 1$ ,

$a_n \leq (\frac{7}{4})^n$ , by the principle of Strong Mathematical Induction.

QED.

(5)

HW #7A, PART III SOLUTION: SEC 5.3, #12 with a  
proof using the Well-Ordering  
Principle of the Integers.

Section 5.3, #12 [using the Well-Ordering Principle]

To Prove: For any integer  $n \geq 0$ ,  
 $7^n - 2^n$  is divisible by 5.

Proof: [Proof-by-Contradiction]

Suppose, by way of contradiction, that there exists  
an integer  $N$ ,  $N \geq 0$ , such that

$7^N - 2^N$  is not divisible by 5.

Let set  $S = \{ \text{all integers } t \geq 0 \text{ such that} \\ 7^t - 2^t \text{ is not divisible by } 5 \}$

[We show that  $S$  satisfies the conditions of the  
Well-Ordering Principle.]

Since  $N \geq 0$  and  $7^N - 2^N$  is not divisible by 5,  
 $N$  is in  $S$ , and so,  $S$  is non-empty.

By definition of set  $S$ , for all integers  $t$  in  $S$ ,  $t \geq 0$ .

$\therefore$  Set  $S$  satisfies the conditions of the Well-  
Ordering Principle.

$\therefore$  By the Well-Ordering Principle,  $S$  has a least element  $m$ .

(Sec 5.3, #12 cont.)

(6)

Since  $m$  is in  $S$ ,  $m \geq 0$  and  $7^m - 2^m$  is not divisible by 5, by definition of set  $S$ .

We need to show that  $7^{(m-1)} - 2^{(m-1)}$  is divisible by 5.

We do this by showing that  $m-1 \geq 0$  and

$m-1$  is not in set  $S$ . This allows us to conclude that  $7^{(m-1)} - 2^{(m-1)}$  is divisible by 5.

Recall that  $m \geq 0$  and  $7^m - 2^m$  is not divisible by 5.

Since  $7^0 - 2^0 = 1 - 1 = 0 = 5 \cdot 0$ ,

$7^0 - 2^0$  is divisible by 5.

$\therefore m \neq 0$ , because  $7^m - 2^m$  is not divisible by 5.

Since  $m \geq 0$  and  $m \neq 0$ ,  $m > 0$ .

$\therefore m \geq 1$ , and so,  $m-1 \geq 0$ .

Now,  $0 \leq m-1 < m$ , so  $m-1$  is not in set  $S$ , because  $m$  is the least element of  $S$ .

∴  $m-1$  is not in set  $S$ .

[We need to show that  $7^{(m-1)} - 5^{(m-1)}$  is divisible by 5]

Suppose, by way of contradiction, that

$7^{(m-1)} - 5^{(m-1)}$  is not divisible by 5:

Since  $m-1 \geq 0$  and  $7^{(m-1)} - 5^{(m-1)}$  is not divisible by 5, we can conclude that,

by definition of Set  $S$ ,  $(m-1)$  is in Set  $S$ .

But, this contradicts the fact that  $m-1$  is not in Set  $S$ .

∴  $7^{(m-1)} - 5^{(m-1)}$  is divisible by 5, by proof-by-contradiction.

∴ By definition of "divisibility", there exists an integer  $h$  such that  $7^{(m-1)} - 5^{(m-1)} = 5h$ .

$$\begin{aligned}
\therefore 7^m - 2^m &= 7 \cdot 7^{(m-1)} - 2^m \\
&= 7 \cdot (2^{(m-1)} + 5l) - 2^m, \text{ by subst.} \\
&= 7 \cdot 2^{(m-1)} + 35l - 2 \cdot 2^{(m-1)} \\
&= (7-2) \cdot 2^{(m-1)} + 35l \\
&= 5 \cdot 2^{(m-1)} + 5 \cdot 7l
\end{aligned}$$

$$\therefore 7^m - 2^m = 5(2^{(m-1)} + 7l),$$

and  $(2^{(m-1)} + 7l)$  is an integer.

$\therefore 7^m - 2^m$  is divisible by 5, which contradicts the fact that  $7^m - 2^m$  is not divisible by 5.

$\therefore$  For any integer  $n \neq 0$ ,  $7^n - 2^n$  is divisible by 5, by proof-by-contradiction.

QED